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Exam Date & Time |24-11-2021 03:00:00

Subject : GP_24NOV_SH2_A

Question ID:- 1215
Study the given table and answer the questions that follow

Given below is a table in which the total number of employees in different
departments of an organization along with the Male and Female ratio is
given.

Regular Employees |Contractual Employees

Departments Total Number Ratio Total Number Ratio

M |F M |F
IT 250 1 (1 (240 2 |1
Accounts 123 2 |1 {130 3 |2
HR 90 3 |2 |30 2 |1
Marketing 350 5 |2 |343 5 |2
Production |304 5 |3 |351 5 |4

study the table and answer the questions below:

the table below gives the total number of employees and male and female
ratio in various departments of an organization.

regular employee contract based employee
apportionment total number ratio total number ratio
man|lady man |lady
it 250 1 1 240 2 1
accounts record 123 2 1 130 3 2
hr 90 3 2 30 2 1
selling 350 51 2 343 5 2
production 304 5 3 351 5 4

Which department has the highest number of female employees?

which department has the highest number of female employees?

Options:-
» Accounts/Accounts, Option ID :- 4859,




« IT/IT, Option ID :- 4857,
» Marketing/Marketing, Option ID :- 4860,

» Production/Production, Option ID :- 4858,
Answer Given:- IT/IT, Option ID : -4857

Question ID:- 1212
Study the given table and answer the questions that follow

Given below is a table in which the total number of employees in different
departments of an organization along with the Male and Female ratio is
given.

Regular Employees |Contractual Employees

Departments Total Number Ratio Total Number Ratio

M |F M |F
IT 250 1 |1 |240 2 |1
Accounts 123 2 |1 {130 3 |2
HR 90 3 |2 |30 2 |1
Marketing 350 5 |2 |343 5 |2
Production |304 5 |3 |351 5 |4

ATTPT BT I DY R IS A R MW U F IS :

W & 1€ @iferet & folt e & faftra fur & ga sdfal 3 Wem aur gev iR
Afgen srgura fear wa 31

frafie st Tfaer emetia HHar)
faumT . |3ruTd . 3uTd

T ST o mgﬁrm ou (AR
373 o 250 1| 1 240 2 | 1
SECI] 123 2 | 1 130 3| 2
CISCE RN 90 3| 2 30 2 1
fague 350 5 | 2 343 5| 2
IATG 304 5| 3 351 5| 4

Find out the difference between regular male employees and contractual
male employees in the organization.

e ¥ frafia qou sdial oiR wfaer snefia qou wHwfval $t I &1 3idr J1d &Y

Options:-

»2/2, Option ID :- 4845,
=« 3/3, Option ID :- 4846,
» 4/4, Option ID :- 4847,

« 5/5, Option ID :- 4848,
Answer Given:- 3/3, Option ID : -4846




Question ID:- 1214
Study the given table and answer the questions that follow

Given below is a table in which the total number of employees in different
departments of an organization along with the Male and Female ratio is
given.

Regular Employees |Contractual Employees

Departments Total Number Ratio Total Number Ratio

M |F M |F
IT 250 1 (1 (240 2 |1
Accounts 123 2 |1 {130 3 |2
HR 90 3 |2 |30 2 |1
Marketing  [350 5 [2 |343 5 |2
Production |304 5 |3 |351 5 |4

ATTPT BT TIT Y R ITP A R MW URH F IS :

iR & 78 arferet | felt wrew & fafis faurm o $a snfyal @ S aur ey eiR
Hfgen srgura fear wa 31

frafia s Tfaer nutia HHamr)
faumT . |3ruTd . 3uTd

o TSI o mﬁm o [T
373 o 250 1| 1 240 2| 1
GLCI 123 2 |1 130 3 2
CISCE RN 920 3| 2 30 2 1
faque 350 5 | 2 343 5| 2
IdTeT 304 5| 3 351 5| 4

Find out the difference between the number of contractual male employees
and the number of contractual female employees in the organization.

e # dfaer snuta gey sHaiial @t s aur dfder snuta afger sHarfar ot
= & S 3faR JTd DY :

Options:-

21295/295, Option ID :- 4854,

» 298/298, Option ID :- 4853,

» 302/302, Option ID :- 4855,

» 307/307, Option ID :- 4856,
Answer Given:- 302/302, Option ID : -4855

Question ID:- 1211

Study the given table and answer the questions that follow




Given below is a table in which the total number of employees in different
departments of an organization along with the Male and Female ratio is
given.

Regular Employees |Contractual Employees

Departments Total Number Ratio Total Number Ratio

M |F M |F
IT 250 1 (1 (240 2 |1
Accounts 123 2 |1 {130 3 |2
HR 90 3 |2 |30 2 |1
Marketing 350 5 |2 |343 5 |2
Production [304 5 |3 |351 5 |4

AIferpT BT TIT PY R ITP A T MU U F IR S -

R & 7 arferet & felt wrew & fafim faurm & pa snfyal @ S aur v ek
Afger srgurd faam a1 7l

frafia SRt Tfaer emetia HHar)
faumT . |eruTd . 3uTd

T ST you mgﬁrm ou (AR
373 o 250 | 1| 1 240 2 | 1
SECEI] 123 2 | 1 130 3| 2
CIECE: I 20 3| 2 30 2 1
ICRLE] 350 5 | 2 343 5| 2
ITGH 304 5| 3 351 5| 4

Find out the average number of regular female employees in the
organization.

e ¥ fraftra afgen sdaifval @1 sivaa dem Jma a1
Options:-

»78.50/78.50, Option ID :- 4843,

» 79.40/79.40, Option ID :- 4844,

» 81.25/81.25, Option ID :- 4842,

» 83.20/83.20, Option ID :- 4841,
Answer Given:- 83.20/83.20, Option ID : -4841

Question ID:- 1213
Study the given table and answer the questions that follow

Given below is a table in which the total number of employees in different
departments of an organization along with the Male and Female ratio is
given.

Departments|Regular Employees |Contractual Employees
Total Number|Ratio [Total Number |Ratio




M |F M |F
IT 250 1 |1 |240 2 |1
Accounts 123 2 |1 |]130 3 |2
HR 90 3 |2 |30 2 |1
Marketing  [350 5 [2 |343 5 |2
Production |304 5 |3 |351 5 |4

ATTPT BT TIT Y R ITP A R MW URH F IS :

iR & 78 arferet | felt wrew & fafis faurm o $a snfyal @t S aur ey eiR
Hfgen srgura faar wa 7

BRICCEZEIR Tfaer nutia HHamr)
faumT . |3ruTd . 3uTd

T ST o mﬁﬂ'@ﬂ et
373 o 250 1| 1 240 2 | 1
SECI] 123 2 |1 130 3| 2
CISCE I 920 3| 2 30 2 1
faque 350 5 | 2 343 5| 2
IS 304 5| 3 351 5| 4

What is the respective ratio of the total number of female employees in the
marketing department to the total number of female employees in the
production department?

Ay faur ¥ afger sHfal @ $a I 9uT SdreA f[AurT # uigar sdamial $1 ga
=T & o1 T 3uTd @ ?

Options:-

«11/13/11/13, Option ID :- 4850,
»11/15/11/15, Option ID :- 4852,
» 12/13/12/13, Option ID :- 4849,

« 12/17/12/17, Option ID :- 4851,
Answer Given:- 11/13/11/13, Option ID : -4850

Subject : GP_24NOV_SH2_B

Question ID:- 1250

Which type of power plants uses the least land per unit of GWh energy
production?

59 yoR & fagya waa ufd g8 Mwmare Her (st s&g Ta) Sl Sared & fw 9ad o0
YfY BT IUTNT Hd § ?

Options:-
«Coal /@Y1, Option ID :- 4998,




« Geothermal/Y@Tdig, Option ID :- 5000,
« Solar/dR, Option ID :- 4999,

« Wind/4dH, Option ID :- 4997,
Answer Given:- Geothermal/YdTdd, Option ID : -5000

Question ID:- 1216

Which of the following is the highest level of teaching?

fFafafEa & @ @19 a1 S=aw wR &1 e g 2
Options:-

«Memory/Jfd, Option ID :- 4861,

. Reflective/ﬁ'ﬂ'-‘zﬁ, Option ID :- 4863,

. Thinking/ﬁi?l‘—r, Option ID :- 4864,

» Understanding/d14, Option ID :- 4862,
Answer Given:- Understanding/Eﬁ%r, Option ID : -4862

Question ID:- 1239

Consider 'A' proposition as 'True' and 'False' respectively, in a square of the
opposition of propositions, then which one of the following is correct?

aP arrl & fAudla i A 'A' 9 9T B HH: W' AR "Tod’ A | FufafEad § 9 o
| 9§ e § ?

Options:-

«'E' is Undetermined and 'O’ is False/'E’ 3ifA4i¥d & 3iik 'O’ e @1, Option ID :-
4954,

« 'I' is True and 'E' is False/'I' 98! € 3fiY 'E' 71dd &1, Option ID :- 4956,

« '0' is True and 'I' is False/'0' Ig! & 3R 'I' 7T@d &1, Option ID :- 4953,

s 'O' is Undetermined and 'T' is False/'0O’ arﬁr%ﬁﬁ?r% 3R T W%I, Option ID :-
4955,

Answer Given:- 'O' is True and 'I' is False/'O’ Hiﬂ % 3R 'T' Ted %I, Option ID :
-4953

Question ID:- 1249

In respect of Biochemical Oxygen Demand (BOD), the permissible Indian
standard for discharge of treated effluents in Inland Surface Waters is

SaEEafA® RIS 7R (Y o 81) & Jau A, MiUd -9 H -y Jag! oa A
Big & fow URda AFe |1 @ ?

Options:-
.15.0 mg/L/15.0 fiErm./ &, , Option ID :- 4995,




= 30.0 mg/L/30.0 fimm./ &. , Option ID :- 4996,
= 5.0 mg/L/5.0 fiR1./ @, , Option ID :- 4993,

. 6.0 mg/L/6.0 fimm./ &f1. , Option ID :- 4994,
Answer Given:- 6.0 mg/L/6.0 fiu./ &. , Option ID : -4994

Question ID:- 1252

Given below are two statements, one is labelled as Assertion A and the other
is labelled as Reason R

Assertion A: Choice-based Credit System (CBCS) is adopted out of the need
for flexibility in the education system so that students, depending upon their
interests and aims, can choose interdisciplinary, intra-disciplinary and skill-
based courses.

Reason R: The majority of Indian higher education institutions have been
following a marks or percentage-based evaluation system, which obstructs
the flexibility for the students to study the subjects/courses of their choice
and their mobility to different institutions.

In light of the above statements, choose the most appropriate answer from
the options given below

HH qt FyT T MU § : TH AFUBYUT (Assertion A) & U H 3R GERT TP HRUT
(Reason R) FEUH:

AFUHEYT (A) : e yomrelt ¥ a<diaue Y 7 & o @ vEd g§¢ fawe - smutiva shige
yomeft (3t &t W TH) F sruATar 3 9 B St srfirefal ofik SERAl & SHR SidR -
fawgs, sra-favas R wiwra neTa ureusmHl &1 999 H G& |

PR (R) :HRA T BT oI &M IRITT 3 a1 ia=ra e eaidT gormett &1
Ut B 36 ¥ ; P oEl @) auht uwe & fawdl 7 dwaeil & dtu St nfaefierar &
GEIGLEREICIREICIE

IWIad YA & TP H, 14 feu fawenl & A T8 IWR &1 999 P :

Options:-

«A is correct but R is not correct/(A) el ® R (R) gl Hﬁ%l, Option ID :-
5007,

« A is not correct but R is correct/(A) U8l T8l @ R (R) TE! 21, Option ID :-
5008,

» Both A and R are correct and R is the correct explanation of A/(A) MR (R)
i 98l & 3R (R), (A) P HEl =UT@T 1, Option ID :- 5005,

=« Both A and R are correct but R is NOT the correct explanation of A/(A) 3R
(R) <Y &t € =g (R), (A) & HE rEn =&Y 81, Option ID :- 5006,

Answer Given:- Both A and R are correct and R is the correct explanation of

A/(A) 3R (R) T 98! § 3R (R), (A) #! UE =uRax 81, Option ID : -5005

Question ID:- 1248

Among all recorded species in the world, India accounts for about




fay & Rerd ot 18 Tt yonfot & F yRa F @Rt fba yenfoar 82
Options:-

=10-12%/10-12%, Option ID :- 4990,

» 15-18%/15-18%, Option ID :- 4991,

= 20-25%/20-25%, Option ID :- 4992,

« 7-8% /7-8%, Option ID :- 4989,
Answer Given:- 10-12%/10-12%, Option ID : -4990

Question ID:- 1241

A spreadsheet is

Wsde ¢ -
Options:-
« Four-dimensional table or grid/ddR - faitg arferer @1 f?l?;, Option ID :- 4964,
» One-dimensional table or grid/T& - faeitg arfereeT ar ﬁlg, Option ID :- 4961,
=« Three-dimensional table or grid/ﬁ - favig arfereT ar ﬁl@, Option ID :- 4963,

« Two-dimensional table or grid/ﬁ - favig arfereT ar ﬁl@, Option ID :- 4962,

Answer Given:- Four-dimensional table or grid/ddR - favia arfereT ar ﬁlg,
Option ID : -4964

Question ID:- 1230

Which of the following are the traits of a competent communicator?
A. Mindfulness

B. Receptive to new information

C. Thinking before acting

D. Should always go by the first impression

E. Be passive to issues around

Choose the correct answer from the options given below:

frafafad & & #9 § "em T%vor & e g 2
A. Tdadr

B. I8 A& P Tguritadr

C. PI3 fibaT $ A Ugd IUP aI% F AT

D. UYH YU B & T @D 3T qg1

E. AN - U & el & ufa fAfspa g

i feu v faweul # | U SR BT 99 Bifo :




Options:-

«A, B and C only/%dd A, B 3R C, Option ID :- 4917,
« A, D and E only/%dd A, D 3R E, Option ID :- 4920,
« B, C and D only/%dd B, C 3R D, Option ID :- 4918,

«» C, D and E only/%dd C, D 3R E, Option ID :- 4919,
Answer Given:- A, D and E onIy/aﬁ?{ A, D 3R E, Option ID : -4920

Question ID:- 1237

Match List I with List II

List I List II

A. I. Mutual fithess and compatibility of the constituent words in a

Sannidhi [sentence

BZ I1I. Expectancy between the words different in a sentences

Tatparya

S' - |III. Propinquity between the different words in a sentence
ogyata

D. s

Akanks3 IV. Meaning intended by the sentence

Choose the correct answer from the options given below:

gt -1 &1 gt -11 9 gafaa s :

gt -1 [t -I1

A. I. 9T § HUeP Teq] Dt URUR® SUgaddl
ey (iR drear

B. dicqd [II. 919 H 3! & o YT

%Tqm III. a1 ¥ fafis wrsaf & fi= arita

D.

. IV. 9/ gIRT Sifa o

1 feT v faweul o @ 9 SR U :

Options:-

«A-1II,B -1, C-III, D - IV, Option ID :- 4945,
«A-II,B-1I,C-1IV,D - III, Option ID :- 4947,
«A-III, B-1V, C-1I, D - II, Option ID :- 4948,

« A-1IV,B-1II, C-1III, D-1I, Option ID :- 4946,
Answer Given:- A-1II,B-1I, C-1III, D - IV, Option ID : -4945

Question ID:- 1219
Match List I with List II

List I List II

Institutions Offering Courses Through .

SWAYAM Level of Education

A. NCERT I. Post school education

B. IGNOU II. Undergraduate education
C. CEC III. Postgraduate education




|D. UGC |IV. School Education

Choose the correct answer from the options given below:

Tt -1 &1 Gt -11 9 gafaa s

;Iiﬂ-]: -1II

(FTG & ATHH § UToUHH Adrerd &3

et T ) (FRIgf0r 1 %)

A TTHE IR A g&?_“"“"*'

B. 31 g[&"emw
III. HIdPIR

c.H s i

D. g it wft IV. ¥5d e

4 feu ¢ faweul o & 99 SR gT :

Options:-

«A -1V, B -1, C-II, D - III, Option ID :- 4875,
«A-1V,B-1I,C-III, D - II, Option ID :- 4873,
«A-1V,B-1II, C-III, D - I, Option ID :- 4876,

«A-1IV,B-1III, C-1, D -II, Option ID :- 4874,
Answer Given:- A-1V,B-1I, C-1II, D - I, Option ID : -4876

Question ID:- 1225
Match List I with List II

List I List II

Ethical concepts Source

A. Categorical imperatives I. Aristotle

B. Utilitarianism II. John Rawl

C. Golden mean III. Immanuel Kant
D. Theory of justice IV. John Stuart Mill

Choose the correct answer from the options given below:

gt -1 &1 gt -11 9 gafaa s :

gt -1 gt -11

(Afe sraurumy) (W)

A. U e I. 3R

B. IUAIRarare I1. S 3ed

C. wquf Areg II1. SHISMA Pic
D. I &1 fRIgia IV. S99 %gard fia

i fow e fawedl # @ wd W ghT :

Options:-




«A-1,B-1II,C-III, D - IV, Option ID :- 4897,
«A-II,B-1III, C -1V, D-1I, Option ID :- 4898,
«A-III, B-1V, C-1I, D - II, Option ID :- 4899,

«A-1IV,B-1I, C-1I, D - III, Option ID :- 4900,
Answer Given:- A -1II, B -1II, C-1IV, D -1, Option ID : -4898

Question ID:- 1226

In the transactional type of communication, the elements are:

HHIETRG ATl &, 970 $A §Id 8 ?

Options:-

.Inactive/ff%pa, Option ID :- 4904,

» Independent/¥ddd, Option ID :- 4901,

» Inter-dependent/q38R ﬁrﬂ?, Option ID :- 4902,

» Neutral/<dc®, Option ID :- 4903,
Answer Given:- Neutral/<dc®, Option ID : -4903

Question ID:- 1221

Independent verification of a research effort is known as

et My 7T T AT TATIT FT HEAT § ?
Options:-

«Enquiry /YT, Option ID :- 4881,

. Investigation/3[<AYUl, Option ID :- 4884,
« Probe/<iid, Option ID :- 4882,

= Replication/J=R1qfx, Option ID :- 4883,
Answer Given:- Replication/EFIquﬁr, Option ID : -4883

Question ID:- 1220

In a learner-centric approach, a teacher shouid:

SfRmHEal - Hfga Iun™ # e 3 -

Options:-
«clarify concepts by citing examples/3cIgrul U¥dd PP ATYRUMSA B WY HIAT
91fg¢l, Option ID :- 4877,

» demonstrate inside the classroom /®&1 & 3} uzah PIh fe@rn iITI%t{I,
Option ID :- 4880,

» explain concepts by using adequate support materials /94T GgOF AN &1
IUANT HIP AGYURUMST Pt SRS HI1 IMeCl, Option ID :- 4879,

» facilitate student learning /91 & AT B AT F4TT iITI%T{I, Option ID :-




4878,
Answer Given:- demonstrate inside the classroom/®%&l & 3l W&’h PP ﬁEFIT
91fg¢1, Option ID : -4880

Question ID:- 1245

Given below are two statements

Statement I: DRAM consists of a number of transistors and capacitors
Statement II: DRAM needs to be constantly refreshed

In light of the above statements, choose the correct answer from the options
given below

daieyIfRe U g :

FYF - I : 3 AR TTH A 3[a giforex 3R el (Fufer) afdifea a7
FYT - I1 : S AR T TH B TR R H $1 axgwan gt 21

IWRITT HYAT & 3T A, 7 feu e faweul & F I8t IR &1 999 P :

Options:-

.Both Statement I and Statement II are false/®Yq I 3R II 3! 3™ g1,
Option ID :- 4978,

=« Both Statement I and Statement II are true/%Yd 1 3R 11 aﬁ’f ad ?I, Option
ID :- 4977,

» Statement I is false but Statement I1I is true/%Yd I A % ’ % DY II
T g1, Option ID :- 4980,

» Statement I is true but Statement 11 is false/dYd I 9™ % ’ ﬁﬁ DY II

3 81, Option ID :- 4979,

Answer Given:- Both Statement I and Statement II are false/®%Yd 1 3R II EﬂT-ﬁ
39 &1, Option ID : -4978

Question ID:- 1244
Which of the following statements are correct?
A. Laser printers use dry ink

B. Unlike dot matrix and inkjet printers, laser printers do not use ink when
producing a document

C. Laser printers use the property of static electricity
D. Laser printers produce ozone gas and tiny toner particulates in the air

Choose the correct answer from the options given below

Frafafed syl & eMyR R faar #ife :
A. Ao fiie’l o 3o wagt &1 Sua faran Sran 2

B. Sic AfewT 3R §@oie filedl & fivdia aeR file’l d qxards duR o G99 WTgl &1
IUERT T8 fpar wirar 31




C. AR fiiexl # forw fRR fagga 3t fa=iwan/qor &1 v ghar 21
D. AoR fifex arg A 3w A9 3R SR & Y& HUT IUH Hd gl
S AIAPTAT / APYT I € ?

Options:-

«A and C onlylaﬁﬁ A 3R C, Option ID :- 4976,

« A,Band D onIy/aﬁ?r A B 3R D, Option ID :- 4973,
« A, C and D only/%dd A, C 3R D, Option ID :- 4974,

« B, C and D only/%dd B, C 3R D, Option ID :- 4975,
Answer Given:- A and C onIy/aTclﬁ A 3R C, Option ID : -4976

Question ID:- 1247

Protection from Ultraviolet Radiations as envisaged under the Montreal
Protocol also contributes to following SDGs

Hifead Weteia A $ 13 IREEAT & AR WS fafeor @ wreor fAufafaa & 3
frg g St ot # ot gireM HRar ? 2

Options:-

«SDGs 10, 16, 17/T $i Sit 10, 16, 17, Option ID :- 4986,

« SDGS 3, 11, 14, 15/TH SI St 3, 11, 14, 15, Option ID :- 4985,

« SDGs 4, 5, 11, 17/t S it 4, 5, 11, 17, Option ID :- 4987,

« SDGs 8, 10, 12/T¥ St il 8, 10, 12, Option ID :- 4988,
Answer Given:- SDGs 8, 10, 12/TH S il 8, 10, 12, Option ID : -4988

Question ID:- 1217
Which of the following are the characteristics of an adolescent?

. Increasing independence from adult control

A
B. Rapid physiological changes
C. Emotionally matured

D

. Acts rationally
E. Increased focus on activities with peer groups

Choose the correct answer from the options given below:

PRt ot Fafafea & 9 o= @ iRvae § 2
A. TP I =0T & ot Wemar

B. dig wifamfe uRada

C. YATHS ¥4 § uRus

D. Al eR®I0 & fpar s




E. 99S 99! & Iy Tfafafial w fie s &

H feu e faweul #§ & IS IR &1 IUT P :

Options:-

«A and B only/W A 3R B, Option ID :- 4865,

« A, B and C only/%ad A, B 3iR C, Option ID :- 4866,
« A, B and D only/%dd A, B 3R D, Option ID :- 4867,

« A, B and E only/$dd A, B 3iX E, Option ID :- 4868,
Answer Given:- A, B and E onIy/W A, B 3R E, Option ID : -4868

Question ID:- 1236
Match List I with List II

List I List II
. |I. An immediate valid cognition of reality due to some kind of
A. Vyapti .
sense-object contact
B. II. A source of knowledge on the basis of the likeness of things
Anumana
C II1. Knowledge of an object due to previous knowledge of some

Pratyaksha|sign or mark

D. IV. The universal relation between the middle and major term of
Upamana |inference

Choose the correct answer from the options given below:

G -1 31 I -I1 ¥ gafea Sifow

gt -1 (g -11 )
A. I. {5t veR & sfard afaed & srur gurd
MW [T T Y TJH

B. :
P II. IS &) YHFUAT & STYR W JTH BT Fid

C. II1. felt Sidha a1 g & qd 99 & SMUR W
UdE  [fHft avg &1 I

D. IV. 39 & 8d UG 3R 91 UG & aig Jead
SUAHE  (fag

=4 fou T fawed & 4 w8 sw gHT :

Options:-

«A-1I,B-1V, C-III D - II, Option ID :- 4941,
« A-II,B-1III, C-1I,D -1V, Option ID :- 4942,

« A-III, B-II,C-1I, D -1V, Option ID :- 4943,

«A-1IV,B-1II,C-1I, D-1I, Option ID :- 4944,
Answer Given:- A-III, B-II,C-1I, D - IV, Option ID : -4943

Question ID:- 1234

Given below are two statements




Statement I: The angle between the minute hand and the hour hand of a
clock when the clock shows 3 hours 20 minutes is 25°

Statement II: Between 4 and 5, the minute hand and hour hand of a clock
9

will be coincident at *' 11 minutes past 4.

In light of the above statements, choose the correct answer from the options
given below

A FyTRTTEE :

FYA - I : gfe TSt 3 g9 20 fFe &1 Uy =@ & @ Suw! 62 & g3 ik e ot g8
¥ ot 25° BT HIvT g7 &

HYT - II : 4 3T 5 & & 4 ToHR zl%ﬁ%wa@aﬁﬁ%aﬁ%ﬁeﬁ?ﬁwaﬂaﬁw
|ry el

ISWIad YA & TP H, A feu U faweul & I I8l IWR &1 997 P :

Options:-

«Both Statement I and Statement II are false/%YAd I 3R 11 aT-ﬁ X i) %'I,
Option ID :- 4934,

» Both Statement I and Statement II are true/%Yd 1 3R 1T aﬁT-ﬁ ad %'I, Option
ID :- 4933,

. Statement I is false but Statement II is true/®4 I 3 9 §, foog oY 11 I
1, Option ID :- 4936,

» Statement I is true but Statement 11 is false/PYd I 9™ % ’ ﬁﬁ DY IITH
g1, Option ID :- 4935,

Answer Given:- Both Statement I and Statement II are true/%Yd 1 3R 1T ﬁ'—ﬁ
T g1, Option ID : -4933

Question ID:- 1243

Which of the following is a disadvantage of laptop computers in comparison
to desktop computers?

ST HER! B ga-T # AUy Hrger) of FAufafeaa § @ #19 @ v FHt g 2
Options:-

.It has lower power consumption/33# f3siell ®t WU HH gl 81, Option ID :-
4970,

« It has no trailing wires/39H ®Is dR A g1 I8d &1, Option ID :- 4969,

» It is easier to break or steal/é'\ﬁ ?ﬁT‘bT-IT T RTAT T ﬁ?lT %I, Option ID :-
4972,

» It is lightweight and self-contained /SI®T doi &H giaT 8 3R ug e IIUf giar
21, Option ID :- 4971,

Answer Given:- It is lightweight and self-contained/Sd®T 9o ®H g1 8 iR a8
wq: quf graT 81, Option ID : -4971

Question ID:- 1229




According to Robbins et al, the sequence of communication functions is :
A. Control

B. Motivation

C. Emotional expression

D. Information

Choose the correct answer from the options given below

AT TG 3 & IFHR AU Hedl BT Hgl HH FT § 2
A. g

B. 3fgon

C. HTaTH® Afiaafe

D. &R

i feu v faweul # | U SR BT 99 BT :
Options:-

«A, B, C, D, Option ID :- 4916,

=« B, C, D, A, Option ID :- 4913,

« C, D, B, A, Option ID :- 4915,

« D, A, C, B, Option ID :- 4914,
Answer Given:- D, A, C, B, Option ID : -4914

Question ID:- 1233

If the difference between compound interest and simple interest on some
principal amount at 20% for 3 years is Rs 64, then the principal amount is -

gfe fdll @ R 20% 1 X A 3 9¢ & forw Twgfs sae ok WIURY U F1 SR 64
Fqd g, A 98 AU_ [1d S|

Options:-

«Rs 375/% 375, Option ID :- 4931,
» Rs 495/% 495, Option ID :- 4929,
» Rs 500/% 500, Option ID :- 4932,

= Rs 550/% 550, Option ID :- 4930,
Answer Given:- Rs 500/% 500, Option ID : -4932

Question ID:- 1251

Which of the following are the major recommendations of the NEP-2020
related to higher education?

A. To increase GER from 26.3% to 50% by 2035

B. Establishment of world-class universities




C. 'Light but tight' regulation by a single regulator for higher education
D. Promoting research in science and technology
E. Opening of 1500 more universities

Choose the correct answer from the options given below:

w7 § 0t - 2020 # 3= e & ey A Fufafad § @ #19 A uge R § 2
A. SIZ3R B 26.3% A TGIHR 2035 TF 50% AT

B. fay - wadig fayfa=meay & wuro=m)

C. 3= fXen & e vwa faf s grRT 'go@ fhg Fok (ATse 9< erse)’ fafwas|
D. fagm 3R Wenfiet & =y &1 ggEr 311

E. 1500 3R fayfaenea @iem

+H feu T fawedl # & 68t IW FT1 79 BT ¢

Options:-

.A and B only/%dd A 3R B, Option ID :- 5001,
« AandC onlylaﬁ?r A 3R C, Option ID :- 5002,
« B and D only/%dd B 3R D, Option ID :- 5003,

« D and E only/%dd D 3R E, Option ID :- 5004,
Answer Given:- A and C only/aTcl?T A 3R C, Option ID : -5002

Question ID:- 1218

Which of the following are the most influential factors of learning?
A. Government policy

B. Motivation

C. Aptitude

D. Interest

E. Physical facilities

Choose the correct answer from the options given below:

fFafafea 4 9 o149 9 4t & g9 guTdt $RS § 2
A. RPRY Hifa

B. 3ifigon

C. JffHgrar

D. Ui

E. Wifa® gfaure

H feu e faweul #§ & IS IR &1 IuT P :




Options:-

«A, B and E only/%dd A, B 3R E, Option ID :- 4872,
« A, B and C only/%4dd A, B 3R C, Option ID :- 4869,
« B, C and D only/%dd B, C 3R D, Option ID :- 4870,

« C, D and E only/3dd C, D 3R E, Option ID :- 4871,
Answer Given:- B, Cand D onIy/av_crH B, C 3R D, Option ID : -4870

Question ID:- 1238

Name the fallacy committed in the argument.

"All household pets are domestic animals.

No unicorns are domestic animals.

Therefore, some unicorns are not household pets."

Choose the correct answer from the options given below

RRumab AT ad v g ?
Tt T TR T SR g
BIg GBI YTaq AR 61 g
TRIT $B AP T THaR T F

Options:-

«Affirmative conclusion from Negative Premises/TPRIHAD HTUR ardl g
JHRTAS e, Option ID :- 4950,

» Exclusive faIIacy/GI'ClﬂﬁTﬁ GL3 ﬁ'q, Option ID :- 4951,
» Existential fallacy/3fRauWR® d& &IV, Option ID :- 4952,

« Undistributed Middle/ 3T gd, Option ID :- 4949,
Answer Given:- Exclusive faIIacy/GI'qa\_rfT:F GEg aﬁtr, Option ID : -4951

Question ID:- 1253
Nalanda was established in

ATCiGT B VI 9 g3 A ?

Options:-

«2"d century/guR! dTdl, Option ID :- 5009,
» 3" century/dIRY R€TIl, Option ID :- 5010,
« 4th century /=t TEaTdl, Option ID :- 5011,

« 5th century/Uigd! qdIil, Option ID :- 5012,
Answer Given:- 2d century/w QIT-ITE&, Option ID : -5009

Question ID:- 1246

According to Niti Ayog's SDG Index (2019-20), which among the following
states is the best performer in the attainment of SDG-5 (Gender Equity)?




Hifa smT & THSiel Gudi® (2019 - 20) & IR, THISIS - 5 (Afrd Ju=ET) wre
o1 H Fafafaa & 3 g wu &1 yexiq adaw g 2

Options:-

.Goa/TﬁHT, Option ID :- 4984,

= Himachal Pradesh/%‘FITil?T L'I%'QT, Option ID :- 4982,
. Kerala/W, Option ID :- 4981,

» Sikkim/fifd®H, Option ID :- 4983,
Answer Given:- Kerala/W, Option ID : -4981

Question ID:- 1231
What comes next in this sequence?

1,2, 24,8, 32,7?

1 fe T ergew F orTelt Wiem F W ghf 2
1,2,2,4,8,32,?

Options:-

»128/128, Option ID :- 4923,

» 256/256, Option ID :- 4924,

» 64/64, Option ID :- 4922,

» 84/84, Option ID :- 4921,
Answer Given:- 256/256, Option ID : -4924

Question ID:- 1235
Which of the following statements are correct?

A. If the cost price of an item is Rs.56 and the gain percentage is 20%, the
selling price of the item is Rs.76.2.

B. If the cost price of an item is Rs.80 and the loss percentage is 15%, the
selling price of the item is Rs.68.

C. If an item purchased in Rs.5 is sold for Rs.6, the profit is 25%

Choose the correct answer from the options given below

fufafaa sy = faar #ifve :

A. Tf¢ feft a5 &1 39 777 56 IW ¢ 3R IT W 20% o1H BT 8, @ 39 I &1 faspa
e 76.2 U4 g1

B. ufe fHdt avg &1 %a Yeu 80 WA § 3R I/ 91 W 15% I Bl 3, @ 39 a¥g BT
fawra geu 68 WA g1

C. gfe freft avg 3t 5 30 & TWieH 6 TUA W 9971 A1aT @ °f 3 W 25% 1Y giaT 2|
S AAPTAT / APYT TN/ 8 ?




Options:-

«A and B only/&dd A 3R B, Option ID :- 4940,
« B and C only/%dd B 3R C, Option ID :- 4939,
» B only/%dd B, Option ID :- 4938,

» C only/%dd C, Option ID :- 4937,
Answer Given:- B only/a:_tﬁ'r B, Option ID : -4938

Question ID:- 1227

Which of the following influence non-verbal communication?
A. Avoidance of signals

B. Invisible incongruence

C. Culture

D. Geographical location

E. Contextuality

Choose the correct answer from the options given below:

Fafafaa § @ w1 smnfee \uvor 3t guifaa sar g ?

A. Jddl T IRER

B. 3t favnfa

C. Iwpfd

D. Hiifer® safufa

E. Higfear

4 fou v faweul # @ 98 IW &1 994 DI :

Options:-

«A, B and C only/%dd A, B 3iR C, Option ID :- 4905,
« A, D and E only/%dd A, D 3R E, Option ID :- 4908,
« B, C and D only/%dd B, C 3{R D, Option ID :- 4906,

« C, D and E only/%dd C, D 3R E, Option ID :- 4907,
Answer Given:- B, Cand D only/aﬁﬂ B, C 3R D, Option ID : -4906

Question ID:- 1223
Given below are two statements
Statement I: Researchers in history are myth makers.

Statement II: Various movements in social history- new history - have
provided new narratives for history researchers.

In light of the above statements, choose the most appropriate answer from
the options given below




RAFyTRETEE :
YA - I : sfae MuPpdl s - fFmtar 8a g1

HYF - II : GNP Sfag - U sfagr § fafta sictant 3 sfagra mMuwdisit & fore 7w
TR IUASR] HIT g

IWIad YA & TP H, A feu U faweul & I I8l IWR &1 999 FIfee :

Options:-

«Both Statement I and Statement II are correct/®Yd 1 3R 11 aﬁT-ﬁ 'a'é’r %'I,
Option ID :- 4889,

» Both Statement I and Statement II are incorrect/%Yd 1 3R II ﬂ=ﬁ Tdd %'I,
Option ID :- 4890,

. Statement I is correct but Statement II is incorrect/®4 I H&l 7, fhg HUA
II 7Tad g1, Option ID :- 4891,

» Statement I is incorrect but Statement II is correct/®Yd I TTdd %, ﬁﬁ DY
II 9g g1, Option ID :- 4892,
Answer Given:- Both Statement I and Statement II are correct/®Yd I 3R 11

ﬁﬂ'ﬁﬁ%l, Option ID : -4889

Question ID:- 1224

According to Wimmer and Dominick, the sequential steps in content analysis
are:

A. Defining the population

B. Selection of appropriate sample

C. Identifying the unit of analysis and construction of categories

D. Code, analyse and draw inferences from the collected data

E. Formulation of the research question or hypothesis by the researcher

Choose the correct answer from the options given below

R ok Shfe & SR fawuayyg fazawwr & fafafea @Ron @1 adt su d v .
A. TEf¥ &1 gy s

B. Sfua ufaest &1 au= &

C. fa=auur ¥t so1E 3R AR Ft I Ft ugA= HATI

D. JUfRd 3MPS! B! Hedg -1, fARAwor HAT 3R ey fAwTer|
E. NYddl gRT MY 9y a1 uRSea-nai &1 fAutor s

H fou T fawedl # & Tet S &1 997 BT :

Options:-

«A, B, C, D, E, Option ID :- 4893,

. B, C, D, E, A, Option ID :- 4894,

« C, D, E, A, B, Option ID :- 4895,




« E, A, B, C, D, Option ID :- 4896,
Answer Given:- B, C, D, E, A, Option ID : -4894

Question ID:- 1242

In electronic banking, ATM stands for

sAae-® P T F FEU AT A TH ST R AH R 8 ?

Options:-

«Automated Teller Machine/GI’I'E'Tﬁ%E TR w=f= , Option ID :- 4966,

« Automated Transfer Money/affaﬁé'g gmw H+ , Option ID :- 4965,

» Automatic Transfer Machine/GﬁEﬁﬁﬂ? g‘m‘th_{ a=i= , Option ID :- 4967,

» Automatic Transfer Mode/aﬁ'ﬂ'ﬁﬁﬂi gmw s , Option ID :- 4968,
Answer Given:- Automated Transfer Money/sffa"]'ﬂ%g m H+ , Option ID :
-4965

Question ID:- 1228

Given below are two statements, one is labelled as Assertion A and the other
is labelled as Reason R

Assertion A: Communication must include the transfer and understanding of
messages and their meanings.

Reason R: Achieving perfect communication is a technical possibility.

In light of the above statements, choose the correct answer from the options
given below

W gt YT Ru U § : TP SfUPYUT (Assertion A) & FTU T 3R IRT ITD HRUT
(Reason R) FEUH:

AfHFYT (A) : TUTOT H TSN 3R I9F 3T BT 3iarvr 3R ANy gy fWwifera gim wnfgul
FRUT (R) : IRYUl TUYUT BT G&F YT HIAT TP dD-1d] AU |

SWRIed HYHI & 3MMalP |, A1 3T fawedl # & Tgt IW 31 994 ST

Options:-

.A is false but R is true/(A) I8! 98! 8 W (R) gl 81, Option ID :- 4912,

« A is true but R is false/(A) Tg! 8 IR=g (R) T &I 21, Option ID :- 4911,

» Both A and R are true and R is the correct explanation of A/(A) 3R (R) iRl
gt § 3R (R), (A) & U =R 21, Option ID :- 4909,

« Both A and R are true but R is NOT the correct explanation of A/(A) 3R (R)
3T TE € R (R), (A) 3 W) = Y 81, Option ID :- 4910,

Answer Given:- Both A and R are true and R is the correct explanation of

A/(A) 3R (R) T 98! § 3R (R), (A) &I TEl =uRan 81, Option ID : -4909

Question ID:- 1240




In which of the following forms of knowledge there cannot be any
predication of the object in terms of the subject-predicate relation?

ﬁ?ﬁff?ﬁﬁﬁmaﬂm%sﬁm-ﬁaﬂwuaﬂﬁﬁmmﬁiﬁﬁwaﬁﬁ
IPpdT g ?

Options:-

«Nirvikalpaka Pratyaksha/ﬁﬁmﬁ Ycdé&l, Option ID :- 4957,
« Samanylaksana/JdATHTEU, Option ID :- 4959,

« Savikalpaka Pratyaksha/ﬂﬁw Y&, Option ID :- 4958,

= Yogaja/4NTsl, Option ID :- 4960,
Answer Given:- Nirvikalpaka Pratyakshalm Y&, Option ID : -4957

Question ID:- 1232

If seven persons can build a house in 30 days, how long will it take three
persons to build the same house, provided that they all work at the same
rate?

gfe ard afet fFft A & 30 39 & 991 Iopd €, &9 safeaal & 39 7 o a9 §
P feaa, ed fPa gl aa R AP Fa € 2

Options:-

100 days/100 f&H, Option ID :- 4925,
= 210 days/210 f&H, Option ID :- 4928,
= 30 days/30 f&H, Option ID :- 4927,

» 70 days/70 e, Option ID :- 4926,
Answer Given:- 70 days/70 ﬁ-—r, Option ID : -4926

Question ID:- 1254

Arrange the following states in descending order in terms of GER (Gross
Enrollment Ratio) in higher education.

A. Tamil Nadu

B. Kerala

C. Uttarakhand

D. Sikkim

E. Himachal Pradesh

Choose the correct answer from the options given below

I e o goa AR U (S § 3R) ot =@ 9 Fufafad wsal &t sarig! w0 § w6

A. AIHEATg
B. H3d




C. STRIGUS
D. fufepw

E. feurae udwr

H feu e faweul & & IS IR BT IUT ST :
Options:-

«A, B, D, E, C, Option ID :- 5013,

« B, A, D, C, E, Option ID :- 5014,

« B, D, E, A, C, Option ID :- 5015,

« D, A E, C, B, Option ID :- 5016,
Answer Given:- B, A, D, C, E, Option ID : -5014

Question ID:- 1255

'Deemed to be University is established by

givs Ryfaemey &t RIUET f5ae gRT $1 9l 8 ?

Options:-
«A notification of the Central Government on advice of the UGC/!L\_rﬁRﬁ. 4|
TATE TR S5 GRPR B AfURIIAT §IRT, Option ID :- 5019,

» A notification of the UGC on the advice of the State Government/Isd G¥Hh R
P a8 W g, Sf.3dt. B LA §RT, Option ID :- 5020,

= An act of the Parliament/Jddq & ffaaw @RI, Option ID :- 5017,

= An act of the state legislative assembly /30 faUT TYT & 4fUFYH §RT, Option

ID :- 5018,
Answer Given:- A notification of the Central Government on advice of the

UGC/Y.5i. 3. @t Id8 IR &% IXHR &1 AfUGAHT §RI, Option ID : -5019

Question ID:- 1222

Which of the following are characteristics of quantitative research?
A. Questions are open-ended

B. Identified variables are measured

C. Questions are standardized

D. If the sample size is large, the findings can be easily generalised
E. It is difficult to fix the level of measurement

Choose the correct answer from the options given below:

fafafad A @ 919 H aeEe My $ AQuae g 2
A. UY Jad-3T gid B
B. 3fufeiia ==Y &1 /9= fomar s g1




C. W% UH®IFd g1 §1

D. af¢ ufdext &1 PR Fa7 8, df fFrewut o1 it A Ira=iiwRor foran o J@ar g1
E. UTUT IR a9 HRAT Hid gial gl

H feu e faweul & & IS IR BT IUT ST :

Options:-

«A, B and C only/%dd A, B 3R C, Option ID :- 4885,

« A, C and E only/%dd A, C 3R E, Option ID :- 4888,

« B,Cand D only/a:_cl?f B, C 3R D, Option ID :- 4886,

« C, D and E only/%dd C, D 3R E, Option ID :- 4887,
Answer Given:- A, Cand E only/W A, C MR E, Option ID : -4888

Subject : GP_24NOV_SH2_C

Question ID:- 1256
Please read the passage and answer the following questions.

The concept of emotional labour emerged from studies of service jobs. But
emotional labour is relevant to almost every job. At the least, your managers
expect you to be courteous, not hostile in your interactions with co-workers.
The true challenge arises when employees have to project one emotion while
feeling another. This disparity is emotional dissonance, and it can take a
heavy toll. Bottled up feelings of frustration, anger, and resentment can
eventually lead to emotional exhaustion and burn out. Emotional dissonance
is like cognitive dissonance, except that emotional dissonance concerns
feelings rather than thinking. It is from the increasing importance of
emotional labour as a key component of effective job performance that we
have come to understand the relevance of emotion in every field.

Emotional labour creates dilemmas for employees. There are people with
whom you have to work that you just plain do not like. Maybe you consider
their personality abrasive. Maybe you know they have said negative things
about you behind your back. Regardless, your job requires you to interact
with these people on a regular basis. So you are forced to feign friendliness.
It can help you, on the job, especially if you separate emotions into felt or
displayed emotions. Felt emotions are an individual's actual emotions. In
contrast, displayed emotions are those that the organisation requires
workers to show and considers appropriate in a given job. They are not
innate; they are learned. Similarly, most of us know we are expected to act
sad at funerals, regardless of whether we consider the person’'s death a loss
and to appear happy at weddings even if we don't feel like celebrating.
Research suggests that at workplaces, it is expected that we should typically
express positive emotions like happiness and excitement and suppress
negative emotions like fear; anger; disgust and contempt.

frafafEa g o aryde 7 3k Ul & IW

YTATeH® YT BT SGURUM 4T &F & AoHRI & g A U 81 freg ymarersd o9 @y
TP AR & fore wrefie 81 Suet yeu® U A oH § H9 g8 3UeT 39T g f& ey
T TEH gl & 1Y T syagR #¢ MR faguyef srgeR 7 #¥1 =i g 99 I gl
? 919 FHial o fit ura & uelkia w1 usar 8 9afe d IS gt UIaHT Uy o
TR g 21 g8 faxfa utaaTere fawvifa seard! 8 o 98 Wy & fou giFeR® g a@dt
21 FoT, BIY 3R AT B} TR UG § 3idd: HITATHS YPHH gl 8 3R AfeR Ya- s 3




¥ ge 91ar g1 YaATes i daeree fagefa & 9w 8, Ram 599 & yeaae
faifa fRiga & o utaAelt | Jefta gt 81 yurdt it e & te e ued & vu
H HIgTHS 4H | Y13 Bt YRR B U SITdT 8 1 HIa-THS 47 SHal & e
MY U HRaT 31 SMUH! T AN & AIY HTH BT Usdl @ e oy fyaga uwe =gt
PId &1 B ghdT g, 3MY 3% dfckied &1 Aqadf AFd g1 g HebdT & f 3y ug sd 8l
fr IR emud die NI Sk IR ® THPRIAS a1d Hal ¢ | TIP Jravlg, MU AR Bt
@Ifar TS 39 @M & Ty FAafia R wR 3ia:forar &t usdl 81 sHferw smust
BuTa &1 feamar w31 usar g1 faRivsw, afe emu yramsi #t gy yraseH a1 ueikia
Y13 ® SIENT-3eT HR T d) S MUD! 3= AR H Teraar fra ao«t 31 Srgyd
YA Afdd P arEafae HIaATe gt 81 39 faudia, uehRia yaam 3 it € g +15
T frelt i faiy & fore wH=fval gRT welia fru s &t srdan v@ar @ ok 3= Sfa
HEar g1 3 Siafifgd Hra=me T8 gt & ; 9 Wl 1€ e S 31 SN UPR e A A
iftrepi=r @ i € b 50 st aafda & sifaw TR ¥ g wefRfa w3 &Y siden &t
STl 8, WA g 89 S ufdy &1 Yog &1 U &fd A9 a1 7 A 9T US-JURIE | v
fm &Y sem & St 8, YA g FH UHAGT We gy B AT 7 H| MY g8 <xia 7 fF ol
Al TR g AUST I STet 8 fF g IH=ua: ugaar 3R SE HY IHRIAS YTl
USRIT ST A1fRT aUT 44, Py, &Y 3R EHTH S TPRIHES® HIGl B ST BT ATeT|

The basic principle of emotional labour management is:

TGP 4¥ Yo 1 giardt fRigid @
Options:-

.Be less hostile to other employees/ 3= HHATRG! & Ufd FH fagw TG, Option
ID :- 5021,

« Be polite to co-workers/JgHHal & ufd faau g, Option ID :- 5023,

« Do not show your frustrations/3M0=t Fo13il B UeRida T HA1, Option ID :-
5024,

« Entertain only limited interaction within the organization/ﬂ"ﬂB_'-f & iR Haa
Aiftra sia:fopar ®<1, Option ID :- 5022,

Answer Given:- Be less hostile to other employees/ 3 HHaal & ufd o4 fagy
QI Option ID : -5021

Question ID:- 1259
Study the given table and answer the questions that follow
Given below is a table in which the total number of employees in different

departments of an organization along with the Male and Female ratio is
given.

Regular Employees |Contractual Employees

Departments Total Number Ratio Total Number Ratio

M |F M |F
IT 250 1 |1 (240 2 (1
Accounts 123 2 |1 |130 3 |2
HR 90 3 |2 |30 2 |1
Marketing |350 5 |2 |343 5 |2
Production [304 5 |3 |351 5 |4




frafafEa e #f aryde 7 3k usl & SR

YTATeH® YH BT SGURUT 4T &F & JAoFRI & g A S 81 frg wrarers o7 @y
TP AR & T URIRS B 1 MUST Ydy® MY ¥ HH A $H Ig 3U&T ¥@dr g & smy
A FepiHal & 1y Ry yagr $¥ R fAgugel sgagr 9 w31 =it Ak a9 I gt
? o1d FHaIal 3 fdl ua &1 yelRia 31 usar 8 wafe d i guRt U Uegd 3
T} B €1 gg fagmfa wraeere fawrfa seand @ ok a8 WA & fae giieR® 8 gadl
21 FoT, HIY 3R AT B} TR UG F 3idd: HTTATHD YHH gl 8 3R FAfe Ya- TP 3
¥ ge 91aT 81 UaATES i e fata & 9ue 8, Ram 599 & s
fafa fiias & s yraeei & Tafta gt 31 gyt ot fares & te W ued & U
A HTgATH® 4H | UG- B YRIRISdT & GHS SITdT 81 HIG-THS 4H HHAal & e
AT U AT Bl TUHT T ANI & ATY BT BT Ul @ fore oy fagpa uwe =gt
HYd &1 B HPdl §, Y I9P Afdid P Auadf Ad g1 g FbdT € fF 3y g S=d 8)
fr 3217 e fie fiD 3ud IR # TPRIAP 91d Fal &1 TP drav(g, YA AR B
@ifar 3yt 349 @ & 1Y fFAafia snyR W sia:frar &3+t usdt 81 safew smus)
TtuTa @71 feamar s vsar 71 faRiveR, afe ey urae @t srgya utaAsi a1 welkia
YTaT3 | SENT-3ET R b df S MDA AR | JgTaar fra Jadt 31 Sgyd
YIGATY fe &1 qRAfd® HIaTe gidl &1 39P fAudia, Uehia Hia=me 3 gidl & forg #18
T frelt o faiy & fore wv=fval grT yelfa feu wm &t sen v@ar @ 8k 3= Sfa
AT 21 3 Siafifgd HIa=Te 81 gidt & ; 9 W € HIae gl 81 SN UPR g A 4
frepi= @l oI € fp gvd fpelt aafaa & oifow SR & 3@ welkfa &1 &Y eiden
Wt B, U g1 59 S99 dAfed @1 Yog B TS &fd WM A1 T HIH a7 WME-ARIE § y9A
e &Y sem F Wt 8, YA § FH UHAGT WegH B A1 7 B MY 98 :Td 7 fF ol
A} UR T U&T BT Sl & P 7 IrH=Ia: YEAdr oY STE ol YPRIHD HIdl P
ueRfa HeT A1feT U1 44, By, &Y 3R AEHTH S THRIHS® HIal B ST BT AT

Which of the following feelings one should feign at a workplace?
A. Fear

B. Excitement

C. Contempt

D. Happiness

Choose the correct answer from the options given below

i wa W safdq o Fafafea § @ o5 @ uremsi &1 feamar s aifge 2
A. Yg

B. 318

C. 3@

D. WISl

i feu ¢ foweul 4 9 Gt W A

Options:-
«A and B only/&dd A 3R B, Option ID :- 5033,




» B and C only/%dd B 3R C, Option ID :- 5034,
« B and D only/%dd B 3R D, Option ID :- 5036,

» C and D only/%dd C 3iR D, Option ID :- 5035,
Answer Given:- B and D only/m B 3R D, Option ID : -5036

Question ID:- 1258
Please read the passage and answer the following questions.

The concept of emotional labour emerged from studies of service jobs. But
emotional labour is relevant to almost every job. At the least, your managers
expect you to be courteous, not hostile in your interactions with co-workers.
The true challenge arises when employees have to project one emotion while
feeling another. This disparity is emotional dissonance, and it can take a
heavy toll. Bottled up feelings of frustration, anger, and resentment can
eventually lead to emotional exhaustion and burn out. Emotional dissonance
is like cognitive dissonance, except that emotional dissonance concerns
feelings rather than thinking. It is from the increasing importance of
emotional labour as a key component of effective job performance that we
have come to understand the relevance of emotion in every field.

Emotional labour creates dilemmas for employees. There are people with
whom you have to work that you just plain do not like. Maybe you consider
their personality abrasive. Maybe you know they have said negative things
about you behind your back. Regardless, your job requires you to interact
with these people on a regular basis. So you are forced to feign friendliness.
It can help you, on the job, especially if you separate emotions into felt or
displayed emotions. Felt emotions are an individual's actual emotions. In
contrast, displayed emotions are those that the organisation requires
workers to show and considers appropriate in a given job. They are not
innate; they are learned. Similarly, most of us know we are expected to act
sad at funerals, regardless of whether we consider the person’'s death a loss
and to appear happy at weddings even if we don't feel like celebrating.
Research suggests that at workplaces, it is expected that we should typically
express positive emotions like happiness and excitement and suppress
negative emotions like fear; anger; disgust and contempt.

frafafEa e o wryds e 3R U4l & SW S

YTATeH® YH BT SAURUM 4T &F & JIoHRI & g A S 81 freg wrarersd oa @y
TP IR & T URIRS 31 SMUST YeU® MU ¥ FH A $H I 3MUeT ¥@dr g & smy
3 el & 1y Ry srasrR o¥ iR gyl FrgsR 7 $31 =i gl 99 I gl
? oI HHaial & fEdt utar &1 yeikia w1 usar 8 wafe 3 S5 gust UTaHT aegy &
I} B §1 gg fagmfa wrasrars fawifa seand @ ok a8 WA & e giieR® 8 g@dl
21 FoT, BIY 3R AT BT TR UG F 3idd: UTTATHS IS gidl § 3R FAfe Ya- D 39
¥ ge 9ar 81 vaATs i dyHee fAaefa & 9w 8, Ram 599 & yadree
fafa fiasr & s yraeei & I&fta gt 31 gurdt ord fAsares &t wE ued & U
H HIGTHS YA | Y13 Bt YRR ) U SITdT 81 HIa-THD YA SHAG] & g
AT IUT BT Bl SATUDT TH AFN & WY HTH B Ul & Forg oy faapa wig 18l
PId &1 T gPdT g, 3MY 3% dfckicd B! ATyl A g1 g HebdT g & 3 g Sd gl
fr 317 emud e NI Sk IR § THPRIAS a1d Fl &1 FIP Jrav(g, MU AR Bt
@IfeR MUY 39 @R & J1Y FHafia smurR w sid:frar &3t usdl 81 s9fe smust
Tfura &1 fe@mar &A1 usar 31 faRivss, afe g yramsit #t gy yrasel a1 uelkia
YTgT3N # SENT-3eT HR b ) 3T MMUD! U AoNR & Teraar e Jadt 31 S gyd
YIgAT¢ fed &1 adafd® HIaaTe gidl &1 59% fAudia, yefia Hraame 3 gidl & forg #18




T frelt o faiy & fore wr=fval gRT yelia feu wm &t sen v@ar @ ok 3= Sfa
AT 21 3 Siafifgd HIa=Te 8 gidt & ; 9 W 1€ HIae gl 81 SN UPR g A 4
ARFH A 9 § P g0 fodt aafea & sifaw TR ® §:@ welia o= & sren
STl 8, U g 39 Afad @1 Yog Bl TP &fd UM A1 T A 9UT AE-JURE o g
fam &Y sem # Sl 8, YA § FH UHAGT WegH B AT 7 HI| MY I8 a7 fF ol
YA IR T T BT Sl 8 P g0 I uHAdr 3R SHTE S YPRIAD HTdl P
UeRfa HeT A1feT auT 44, Iy, &y 3R AEHT S THRIHS HIal B ST BT A1ieT|

In a workplace environment, labour managers should give preference to:

ST WA & JAERl g7 geyS! o Fafafed 9 @ fed wufrear &t arfey 2
Options:-

«Displayed emotions/YeRid HaATsi Gﬁ, Option ID :- 5029,

» Expressions of frustrations/§TéTGﬁ @t Srfyaafad Eﬁ, Option ID :- 5032,
» Felt emotions/3Yd yra-rait Tﬁ, Option ID :- 5030,

» Negative emotions/TPRTHAD yra=ra3i Hﬁ, Option ID :- 5031,
Answer Given:- Displayed emotions/u'q'ﬁh Yra-T3ii ﬁ, Option ID : -5029

Question ID:- 1260

According to the passage, effective emotional labour management involves :

TR & AR, THTE! HTTTHS 99 Yau= | a1 Jiefed giar g ?

Options:-

«Acceptance of emotional dissonance/HTd- TS faTfa &t ¥wrddr, Option ID
- 5037,

» Display of friendly emotions/ﬁ'ﬁllﬂf YraAT3if H1 tlﬂ"\’ﬁ, Option ID :- 5039,

= Free expression of feelings of frustration/$al BT UraATS B Had sifiraafa,
Option ID :- 5038,

« Sidetracking the learned emotions/Jd& 7§ HTa=T3 &) uref # W@, Option ID
- 5040,

Answer Given:- Free expression of feelings of frustration/$al Dt YraATSdl B
qad 3ifiaafadd, Option ID : -5038

Question ID:- 1257
Please read the passage and answer the following questions.

The concept of emotional labour emerged from studies of service jobs. But
emotional labour is relevant to almost every job. At the least, your managers
expect you to be courteous, not hostile in your interactions with co-workers.
The true challenge arises when employees have to project one emotion while
feeling another. This disparity is emotional dissonance, and it can take a
heavy toll. Bottled up feelings of frustration, anger, and resentment can
eventually lead to emotional exhaustion and burn out. Emotional dissonance
is like cognitive dissonance, except that emotional dissonance concerns
feelings rather than thinking. It is from the increasing importance of




emotional labour as a key component of effective job performance that we
have come to understand the relevance of emotion in every field.

Emotional labour creates dilemmas for employees. There are people with
whom you have to work that you just plain do not like. Maybe you consider
their personality abrasive. Maybe you know they have said negative things
about you behind your back. Regardless, your job requires you to interact
with these people on a regular basis. So you are forced to feign friendliness.
It can help you, on the job, especially if you separate emotions into felt or
displayed emotions. Felt emotions are an individual's actual emotions. In
contrast, displayed emotions are those that the organisation requires
workers to show and considers appropriate in a given job. They are not
innate; they are learned. Similarly, most of us know we are expected to act
sad at funerals, regardless of whether we consider the person’'s death a loss
and to appear happy at weddings even if we don't feel like celebrating.
Research suggests that at workplaces, it is expected that we should typically
express positive emotions like happiness and excitement and suppress
negative emotions like fear; anger; disgust and contempt.

FrafafEa e o amgde u¢ o Uyl & IR S

YTATeH® Y0 BT SGURYT 4T &F & AoFRI & g A S 81 fbeg yrarersd o9 @y
TP AR F T yRifiier §1 TUT U 3T A HH A HH T 3MUeT 1@l ¢ & 3y
3 AeHiHal & 1Y Ry AaeR o¢ R fAguyel FaeR 7 w31 =i gl 99 IO gl
? 919 FHaial 3 fdl ua &1 uelRia 1 usar 8 wafe d 1S gt U Uegd a1
I} Bid 81 g8 faumfa yrasers fawrfa seand 8 ok 98 WA & e gieR® 8 a@dt
21 FoT, HIY 3R AT B} TR UG | 3idd: HTTATHD YPHH gidl 8 R FAfe Ya- s 3
¥ ge 91aT 81 UaATES i e fagfa & 9w 8, Ram 599 & yeee
famfa fiias & s yraeei & Tafta @t 31 gyt it fAwares & te W ued & U
H YIgATHP 9H | YTare &1 URifiedr &1 A STdT 81 HIaATd S 940 dHaal & forg
YT U AT §1 MUBT T NN & AT HTH BT Ul @ e oy fagpa uwe =gt
PId &1 B ghdT 8, 3MY 3% dfckicd &1 vadf AFd g1 g Hebar & f 3y ug sd 8l
fr 3217 e fie N 3k IR # THPRIAS a1d Fal &1 FYP Frav(g, YA AR B
WIfAR 3MUHY 39 dFN & 1Y Al smur W oid:forar &3t usdl 31 s9fiT smust
e &1 feEmar s3=1 vsar 81 faRiueR, afe emu yrame &1 srgya yrame ar uehkia
YTa-T3 ® SENT-3eT B b df I MUD!T U AR | Jeraar fra dadt 31 S gyd
YIGATY Afe B IR HTaATe gidl &1 39P fAudia, Uelia Hia=me 3 gidl & o g #18
e forddt o faRiy & forg wfenfal gt welkfa few oM 1t srien v@ar 3 ik 3= Sfa
UHdT 81 9 Safiga yaAne =8 gidl 8 ; 3 Jielt 18 yreAe Bt g1 s R g A |
ARFH A1 4 § % gua fodt aafda & sifaw TR ® g1 welkia o & srem &
STt 8, MR €1 89 39 dfad @t Yg &I U &fd aF a1 7 7 9T d-9uRIE § g
faa &Y sem & Wit 8, YA § FH UHAGT We gy B AT 7 HI| MY g8 a7 fF ol
Al TR g AU B STelt 8 fF g0 IH=ua: ugadar 3R SNE A9 IHRIAS YTl
UeRia ST AT U1 44, Y, &H 3R EHTT S THPRIHS® HIal B ST BT AT

Within an organization, emotional dissonance affects

et Wre § wraaTes fawnfa frd gwrfaa st & 2

Options:-

»Cognitive consonance/IJMTH® SI¥=Udl, Option ID :- 5025,

» Constructive thinking/IdATH® IEGER Option ID :- 5028,

» Effective job performance/ﬂ‘l-l'lﬁ am‘ﬁrmm-rr, Option ID :- 5026,




» Solutions to labour issues/4H gz‘r DT JHTYTH, Option ID :- 5027,
Answer Given:- Solutions to labour issues/4H E[?ﬁ DT JHTYTH, Option ID : -5027

Subject : LIS_SHAAN_NOV21A

Question ID:- 45

Which among the following are the examples of "Descriptive Metadata"?
A. Finding aids

B. Specialized Indexes

C. Selection criteria for digitization

D. Curatorial Information

Choose the correct answer from the options given below:

frafaf@a & @ aufare Aerder & ISR B | 72
A. TGS A1E (BrEET UE9)

B. faRry srgsafterd (WRMeRs soRN)

C. f&forergeiR@ & 99+ "ueus

D. TN AT

1 fou 1T faweul # @ 98 IW &1 994 P :
Options:-

«A, B and D only/%4dd A, B 3R D, Option ID :- 180,
« A, B and C only/%dd A, B 3R C, Option ID :- 177,

« A, C and D only/%dd A, C 3R D, Option ID :- 179,

« B,Cand D onlylaﬁﬁ B, C MR D, Option ID :- 178,
Answer Given:- B, Cand D only/aﬁ?{ B, C MR D, Option ID : -178

Question ID:- 8

According to UNESCO, what is the slogan for the World Book and Copyright
Day 2020 observed globally?

@?%Wﬁgwﬁmm, 2020 S Q¥ fay & 9= ™, 1 ARt
T ?

Options:-

«Books : A Window into the World during COVID-19/E'\‘?I$ : BIAS - 19 F IR
fay Y <@ $1 IR, Option ID :- 30,

« Books are for Use/J¥dd SUUIT & T 8, Option ID :- 31,

. Globalisation of Reading Material during COVID-19/®dS - 19 &% &R Ua
It 31 Aftweul, Option ID :- 32,

« Improve the Reading Habit/Ud+ P e | JUR ib_}", Option ID :- 29,
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Question Correct Question Correct Question Correct
ID Option ID ID Option ID ID Option ID
1 3 51 202 1211 4841
2 6 52 208 1212 4846
3 11 53 210 1213 4852
4 14 54 215 1214 4855
5 17 55 219 1215 4858
6 22 56 223 1216 4863
7 27 57 227 1217 4868
8 30 58 230 1218 4870
9 35 59 234 1219 4875
10 38 60 238 1220 4878
11 42 61 244 1221 4883
12 45 62 246 1222 4886
13 51 63 251 1223 4889
14 55 64 253 1224 4896
15 57 65 257 1225 4899
16 62 66 262 1226 4902
17 67 67 267 1227 4907
18 72 68 272 1228 4911
19 76 69 274 1229 4916
20 79 70 278 1230 4917
21 81 71 281 1231 4924
22 87 72 285 1232 4926
23 90 73 292 1233 4932
24 96 74 295 1234 4936
25 100 75 299 1235 4938
26 102 76 301 1236 4944
27 106 77 305 1237 4948
28 110 78 311 1238 4952
29 % 79 316 1239 4956
30 117 80 318 1240 4957
31 122 81 321 1241 4962
32 128 82 327 1242 4966
33 130 83 332 1243 4972
34 134 84 336 1244 4974
35 139 85 339 1245 4977
36 142 86 344 1246 4982
37 147 87 345 1247 4985
38 150 88 352 1248 4989
39 154 89 354 1249 4996
40 157 90 359 1250 5000
41 161 91 363 1251 5002
42 166 92 368 1252 5005
43 169 93 372 1253 5012
44 176 94 373 1254 5016
45 180 95 380 1255 5019
46 183 96 384 1256 5023
47 185 97 385 1257 5026
48 190 98 389 1258 5029
49 193 99 394 1259 5036
50 200 100 399 1260 5039
Note :- Correct Option ID '%' means Marks awarded to all who appeared ; Page 52

'&" Question not considered for evaluation



